2025/08/27 01:10 12 oooooooo

Jouoodotd

N

gobooooboooooo
gboobogoooooon

$$ \left\{\begin{array}{ccc} x &\equiv&a_1\pmod{m_1}\\ x &\equiv&a_2\pmod{m 2}\\ &\vdots&\\ x
&\equiv& a_n\pmod{m_n}\\ \end{array}\right. $$
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#include<bits/stdc++.h>

using namespace std;

const int N=1e5+5;

typedef long long 11;

11 m[INJ,alN];

1l ged(1l x,11 vy
ly?x:gcd(y,x%y) ;

1l lem(11 x, 11 y
y/gcd(X,y)*x;

void exgcd(1l a,ll b, 1l &x,1l &y
'b
x=1,y=0; ;

exgcd(b,a%sb,y,x);
y-=x*(a/b);

11 mul(1l x,11 y, 1l mod
11 ans=0;
x%=mod ; y%=mod ;
y
y&1) ans=(ans+x)%mod;
X=(X+X)%mod;
y>>=1;

ans;

1l calc(ll M,1l mi,ll c,1ll x0
1l g=gcd(M,mi);
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1l x,y;
exgcd(M,mi,x,y);
1l temp=lcm(M,mi);
c=(c%mi+mi)%mi;
1l ret=mul(x,c/g,mi);
ret=(ret%smi+mi)%mi;
mul(ret,M, temp)+x0%temp)%temp;

int main
int n;
scanf("%d",&n) ;
int i=1;i<=n;i++) scanf("%lld %lld",&m[i],&a[1i]);
11T M=m o
11 ans=a %M;
int i=2;i<=n;i++
ans=calc(M,m[i],ali]-ans,ans);
M=lcm(M,m[i]);
ans=(ans+M)%M;

printf("slLld",ans);
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